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Has the replacement of the emperor 
lowered labor productivity?
• Hideo Kumano (2021) argues that Japan's labor productivity growth 

rate gradually declined in the 2010s, and that this was caused by a 
large decrease in working hours due to the "work style reforms" 
implemented during this period. 

• Labor productivity is calculated by dividing total income by total hours 
worked, and if total income declines significantly with total hours 
worked, it is possible that labor productivity growth will decline. 

• In particular, in 2019, the replacement of the emperor led to an increase 
in holidays, resulting in a large decrease in both working hours and 
labor income. 

• 2020 and 2021 will also see a large decrease in working hours and 
income, mainly in the service sector, due to an increase in holidays 
caused by the Corona disaster, so labor productivity growth is likely to 
remain sluggish.
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• In Japan, in the 2010s, balancing work and 
housework became a goal of the government, 
and working hours were shortened to achieve 
this goal under the name of "work style reform. 

• If workers are paid monthly and their monthly 
salary remains the same even if their working 
hours are reduced, this will bring about an 
increase in labor productivity. 

• However, as the type of employment in which 
income depends on working hours has been 
increasing recently, the reduction in working 
hours has resulted in a large income decrease. 

• First of all, even in regular employment, if 
overtime pay is reduced along with overtime 
hours, income will go down. 

• Furthermore, recently there has been an 
increase in non-regular employment, for which 
a decrease in working hours directly results in 
a decrease in income.
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https://www.dlri.co.jp/report/
macro/154661.html



In international 
comparisons based on 
purchasing power parity, 
Japan's labor 
productivity has ranked 
around 20th among 
OECD countries for the 
past 50 years, but has 
recently begun to 
decline slightly. 

On the other hand, 
relative to the United 
States, Japan's labor 
productivity was 70% of 
the U.S. level around 
2000, but is now around 
60%.

https://www.jpc-
net.jp/research/list/
comparison.html
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In international 
comparisons based on 
purchasing power 
parity, Japan's labor 
productivity in the 
manufacturing 
industry was the 
highest in the world 
around 2000. 

However, it has since 
declined and now 
ranks around 15th 
among major countries.

https://www.jpc-
net.jp/research/list/
comparison.html

5



Problems 1
• There are several problems with international comparisons of 

labor productivity.

• First, the result is the setting of purchasing power parity. Labor 
productivity in Japan and Europe has been around 70-80% of 
that in the US for the past several decades. 
• This is probably due to the fact that purchasing power parity is set at a 

discount for Japan and Europe. Purchasing power parity is set so that 
the cost of achieving a standard consumption bundle is equalized across 
countries. 

• For example, if it costs a lot of money in Japan and Europe to realize a 
standard consumption bundle for Americans, purchasing power parity is 
set at a discount in Japan and Europe, so that value productivity is 
evaluated relatively low. 

• On the other hand, if the purchasing power parity is adjusted to a 
stronger euro or stronger yen, the labor productivity of each will increase.
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Problems 2

• Second, globalization has led to an increase in multinational 
corporations shifting value added to countries with lower 
corporate tax rates. 
• Ireland, for example, is well known as a tax haven for multinational 

corporations. 

• As a result, labor productivity in the manufacturing sector in Ireland 
is almost three times higher than in Switzerland, which ranks 
second. 

• Of course, not all that much value added is actually generated in 
Ireland.
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Manufacturing

Using 2010 as the base year 
(=1), we will look at the trends 
in labor productivity for each 
industry in turn.

First, Japan's labor productivity 
improvement in the 
manufacturing industry has 
outpaced that of major countries. 

The reason for the drop in 
ranking in international 
comparisons may be due to the 
replacement of international 
value added by multinational 
corporations, including Japanese 
companies.



9

Labor productivity in the wholesale and 
retail trade, food and beverage, and 
accommodation industries has not 
increased much from its 2010 level.

Labor productivity in Japan's 
information and communications 
industry rose markedly from the 1990s 
until about 2005, but has since 
stagnated. 

In contrast, in the U.S., labor 
productivity in the information and 
communication industry has continued 
to rise since the beginning of the 21st 
century.



10

In the education and social welfare service 
sectors, labor productivity has stagnated in 
many countries, while in Japan it has declined 
over the long term. 

This can be attributed to the fact that these 
businesses are required to hold down prices as 
a condition for the provision of grants and 
subsidies from the government. 

Since this is a welfare program, there is the 
problem that if prices are raised, people will 
not be able to receive the services.

In entertainment and personal service 
industries (e.g., barber stores), which are less 
regulated by the government, a decline in labor 
productivity is observed in many countries, but 
it is particularly pronounced in Japan. 

This is thought to be because of the ease of 
entry and intense price competition in these 
industries



Why has the real wage decreased?

Kyoji Fukao pointed out the following. 
See “The Long-run Stagnation of Labor 
Productivity and Real Wages,” 
https://www.rieti.go.jp/jp/events/bbl/21120901_f
ukao.pdf

Real wage = labor productivity X labor 
income share.

The rate of increase in labor productivity in 
Japan over the period 2010-18 was 5.2%, and 
most of this was due to an increase in TFP.

However, the effects of increases in the 
quality of labor and the capital equipment 
ratio were only 0.1% and 0.2%, respectively.
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The ratio of capital stock to GDP 
has remarkably decreased in the 
last two decades, which is the 
most effective reason for the fall 
in the real wage.

Piketty argues that labor income 
share drastically decreased in 
the advanced countries because 
of the rise in the capital to GDP 
ratio, which is not recognized in 
Japan. 
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https://www.rieti.go.jp/jp/events
/bbl/21120901_fukao.pdf



The labor income share has not decreased 
in the last three decades

The labor income share fell markedly to -9.2% in the 1980s, but it 
has been generally stable since the 1990s, and the labor income 
share has not plummeted as it has in the United States and Europe. 

However, since 2000, there has been a significant decline in the 
labor income share in the manufacturing industry. In other words, 
the labor income share has been increasing in other industries.

The decline in the labor income share in the manufacturing sector 
was not caused by an increase in the capital/labor ratio as Piketty 
points out. 

Abenomics, which began at the end of 2012, significantly raised the 
markup rate, a measure of excess returns on capital (from 1.1% to 
5.3%), solely to enrich shareholders and managers.
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Other Factors

the Real wage rate = labor's share of GDP x labor productivity

x GDP deflator / CPI (← impact of terms of trade, etc.)

x nominal GDP at factor cost / nominal GDP at market price 
(← impact of consumption tax, etc.)

Therefore, the recent deterioration in terms of trade and the 
consumption tax hike have also lowered real wages.

Since excess profits have increased, this does not explain why 
the slump in investment has occurred. 
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Substitution of capital for labor has not worked

Since the wage/capital cost ratio has risen during this period, 
making capital relatively undervalued, the explanation that 
"cheap labor has caused a substitution of capital for labor" is 
also not valid.

It is conceivable that future wage payments to regular workers 
under long-term employment may have had the equivalent 
effect of huge long-term debt (debt hungover), discouraging 
investment, but there is no concrete evidence of this.
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Minimum wage
• There is a strong argument that the minimum wage should be raised to 

increase productivity. Economist Atkinson, for example, has been very 
influential.
• https://voxeu.org/article/productivity-impacts-minimum-wage-hikes

• If you raise the minimum wage, jobs with productivity below the minimum 
wage will go unpaid, and unemployment will rise. 

• However, if the number of jobs with productivity above the minimum wage 
were to increase, not only would average productivity rise, but GDP would 
also increase.

• In fact, in the last decade, the government has raised the minimum wage, 
and before the Corona disaster, employment expanded and labor 
productivity increased.

• However, a rise in the minimum wage has heterogeneous effects on local 
employment, depending on the local control of wages by employers.
• Okudaira et al (2019) https://voxeu.org/article/minimum-wage-effects-across-

heterogeneous-markets

16



17

The daily minimum wage was raised gradually until 2001.

Since 2001, the targeted measure has shifted from daily to hourly 
wage, which drastically increased in the last decade under the 
leadership by the Abe cabinet.

https://www.jil.go.jp/kokunai/statistics
/timeseries/index.html



Minimum Wage
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Minimum wage

The graph shows the distribution of 
productivity.

Suppose that a rise in the minimum 
wage destroys jobs less productive 
than it, the productivity distribution 
may shift from the blue curve to the 
red one. 

If area A is larger than area B, the 
total and average output rises 
without any change in the 
unemployment rate.


